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1.What are two ways Cisco helps customers navigate compliance issues? (Choose two.) 
A. Providing identity verification 
B. Securing email communications 
C. Ensuring all employees have access to all files 
D. Removing reporting requirements 
E. Removing bureaucratic security tags 
Answer: A B 
 
2.Which two attack vectors are protected by Web Security? (Choose two.) 
A. Email 
B. Voicemail 
C. Cloud 
D. Web 
E. Data Center 
Answer: A D 
 
3.Which two attack vectors are protected by NGFW? (Choose two.) 
A. Web 
B. Cloud 
C. Mobile 
D. Data Center 
E. Email 
Answer: BD 
 
4.Which are two reasons perimeter-based network security is no longer sufficient? (Choose two) 
A. more vulnerabilities 
B. more IT professionals 
C. more networks 
D. more devices 
E. more users 
Answer: D E 
 
5.Which two benefits of flexible purchasing does Cisco provide? (Choose two.) 
A. Simplify the datacenter 
B. Meet immediate needs 
C. Roll out more solutions 
D. Plan for the future 
E. Reduce training needs 
Answer: BD 
 


